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 = 12 Marks
Q1. The relation R defined on Z (the set of integers) by m R n 
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 m – n is odd, is

A. Reflexive and symmetric




B.   Reflexive but not symmetric

C. symmetric but not reflexive



D. Not  Reflexive and not symmetric

Q2. The relation S defined on R (the set of real numbers) by x S y  
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 x2  
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 y2 is
A. Antisymmetric  and transitive

B. Antisymmetric  and not transitive

C. Transitive but not antisymmetric

D. Not antisymmetric and not transitive

Q3. If A = { a, b, c, d } and

         T = { (a,a),(a,b),(b,a),(b,b),(c,c),(d.d)} then R  is 
A. An equivalence relation and a partial order

B. An equivalence relation but not a  partial order

C. A partial order but not an  equivalence relation

D. Not an equivalence relation and  not a partial order

Q4. If u is the equivalence relation defined on the set B={1,2,3,4} by

u = {(1,1),(1,2),(2,1),(2,2),(3,3),(3,4),(4,3),(3,3)} then the number of equivalence classes 

         is :

A. 1


B.2


C.3


D.4

Q5. The transitive closure of the relation 

R={(a ,a),(a, b),(b, a),(b, c),(c, c)} defined on the set A= {a , b, c} is :

A. {( a ,a),(b, b),(c, c),(d, d)}

B. {( a ,a),(a, b),(b, a),(b, c),(c, c)}

C. {(a ,a),(a, b),(a, c),(b, a),(b, c), (c , c)}

D. { (a ,a),(a, b),(a, c),(b, a),(b, b), (b ,c), (c ,c)}

Q6. If S is a partial ordering on the set A={1,2,3,4,5} and has for  Hasse diagram, the following diagram:

Then,

A. S={(1,1),(2,2),(3,3),(4,4),(5,5)}

B. S={(3,1),(5,1),(1,4)}

C. S={(1,1),(2,2),(3,3),(4,4),(5,5),( 3,1),(1,4),(5,1),(3,4),(5,4)}

D. S={(1,1),(2,2),(3,3),(4,4),(5,5),( 3,1),(1,4),(5,1)}

PART –B







5 Marks
Q1. Let R be the relation defined on Z by m R n 
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m + n is even

A. Show that R is equivalence relation

B. Find [0]

C. Show that 5 
[image: image6.wmf]Î

 [-13]










3 Marks
Q2. Let T be the relation defined on Z+ ={1,2,3,4,……} by

      a T  b  
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a2 | b2   Show that T is a partial ordering
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